

NAME: LONGJOHN BOMAEINITAMUNOPIRI ADANGO

MATRIC NO: 19/ENGO1/020

DEPARTMENT: CHEMICAL

COURSE CODE: ENG 234

Assignment

F12-3

$$v = 4t - 3t^2$$

$$s = \int v dt = \int (4t - 3t^2) dt$$

$$s = \frac{4t^2}{2} - \frac{3t^3}{3} \Rightarrow 2t^2 - t^3 + c$$

$$s = 0, t = 0;$$

$$0 = 2(0)^2 - (0)^3 + c; c = 0$$

$$s = 2t^2 - t^3$$

when $t = 4 \text{ sec}$

$$s = 2(4)^2 - (4)^3$$

$$s = -32 \text{ m}$$

32 m to the left of the origin

F12-4

$$v = (0.5t^3 - 8t)$$

$$a = \frac{d}{dt}(v) = \frac{d}{dt}(0.5t^3 - 8t)$$

$$a = 1.5t^2 - 8$$

when $t = 2 \text{ s}$

$$a = 1.5(2)^2 - 8$$

$$a = 4 \text{ m/s}^2$$

F12-1

$$a = (4t^2 - 2) \text{ m/s}^2$$

$$v = \int a dt = \int (4t^2 - 2) dt$$

$$v = \frac{4t^3}{3} - 2t + c$$

$$s = \int v dt$$

$$= \int \left(\frac{4}{3}t^3 - 2t + c \right) dt$$

$$= \frac{4}{3 \times 4} t^4 - \frac{2t^2}{2} + ct + A$$

$$s = \frac{1}{3}t^4 - t^2 + ct + A$$

when $t = 0, s = -2 \text{ m}$

$$-2 = \frac{1}{3}(0)^4 - (0)^2 + c(0) + A$$

$$A = -2$$

$$\text{Hence } s = \frac{1}{3}t^4 - t^2 + ct - 2$$

when $t = 2, s = -20$

$$-20 = \frac{1}{3}(2)^4 - (2)^2 + 2c - 2$$

$$-20 = \frac{-2}{3} + 2c; c = \frac{-20 + \frac{2}{3}}{2}$$

$$c = -\frac{29}{3}$$

$$s = \frac{1}{3}t^4 - t^2 - \frac{29}{3}t - 2$$

when $t = 4$

$$s = \frac{1}{3}(4)^4 - (4)^2 - \frac{29}{3}(4) - 2$$

$$s = -28.67 \text{ m}$$

$$28.67 \text{ m}$$

to the left of the origin.

E12-8

$$v = (20 - 0.05s^2) \text{ m s}^{-1}$$

Recall that

$$a ds = v dv$$

$$a = \frac{v dv}{ds}$$

$$\begin{aligned} \frac{dv}{ds} &= -0.1s \quad @ \quad s = 15 \text{ m} \\ &= -0.1 \times 15 = -1.5 \end{aligned}$$

$$\begin{aligned} v @ 15 \text{ m} &= (20 - 0.05(15)^2) \\ &= ~~18.875~~ 8.75 \end{aligned}$$

$$\begin{aligned} a &= -1.5 \times ~~18.875~~ 8.75 \\ &= -13.125 \text{ m s}^{-2} \end{aligned}$$